AULA 2: | LINGUAGENS Lingua Inglesa -

CODIGOS E SUAS Prof.: Adelson Jiinior
FUTURO SIMPLES
: TECNOLOGIAS — — — — —
VOCABULARY:
L(lnterpretaglo de texto) I"BLE: capez
e e e ST ABOUT : sobre
LL:todo(a)
How will the future be? AND s 0
AT LEAST :pelo menos
) E:ser
There are people who say that the future will be ECAUSE :porgue por causa

2 ; ; BEINGS=seres
wonderful: machines will do all of our work, we will g Low UP :Explodir
; ’ i "AN;pode
be able to travel from New York to Paris in one hour; ARS?‘wnus
ECIDE =decidir
DO =fazer
EARTH =terra
Other say that the future will be terrible: the food ENERGY =energia
X ENOUGH =suficiente
won’t be enough ; we won'’t be able to move on the AST=ripido
, . ‘00D =comida
highways because there will be too many cars. And  ppoM=de.do.da

e’ll f;l / -t 3 -' Id with 7 UTURE={uturo
wge OW up th¢ wor Wil Our wecapons. }UOD=bcm‘b0"5‘b0as

no war will happen.

HAPPEN=acontecer
People worry about the future because of the problems that will have to solve: AVE =ter

i L ik i : HAVE TO=ter que
population, urbanization. energy , pollution. We’ll have to decide what is essential to HIGHWAY S=rodovias

. 5 : : - e HOUR= hora

life on earth and what is essential to our survival. if we can make these decisions now, HUMAN=humano
f IF= se

at least we will have a future. T Ei——

Seé
1) According to the text : True or False? rﬂiﬁ.ﬁ}ﬂ;q a——
a) The future will be good to some people. ( ) :35: :: :;U,_rer
NO =nenhuma,niio
) NOW=agora
OF OUR=do nosso
OF THE=do.da
¢) Travel from New York to Paris will be fast. ( ) N THE=no.na,em
NE=uma
I OTHER =outro(a)
d) The future won't be good to some people. ( ) I:?UR ks (
EOPLE pessoas
¢) There will not be problems to solve in the future, ( ) POLLUTION=poluigio
OPULATION=populagio
. ) SAY=dizer
f) Human beings will have to solve important problems. ( ) OLVE=resolver
OME=alguns
SURVIVAL=sobrevivéncia
ERRIBLE=terrivel

b) Machines will not help the human beings. (

2) Choose the correct option:

[ ) HAT =que
. . o =
a) Will people travel faster? THE= 0.2,05.85
. . HERE ARE =existem
. . . [ i HERE WILL BE=h A
b)Will the machines be expensive? THESE =estes(as) ity
~ 4 O=de,para
. . f ) TOO MANY =demais
¢) Will the food be a problem? RAVEL=viajar
\ J RBANIZATION=urbanizagio
WAR=guerra
d) Will the cars have space to move?[ ] E =nos
EAPONS=armas
WHAT= 0 que
¢) Will the author of the text be dead in the future? [ ] I:;:fr?:q““
=com
WONDERFUL=maravilhoso
ye . ORK=trabalho
»
f) Will the pollution be a problem? [ ] WORLD =mundo

|EORRY = §e preocupar
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L{Interpre’tao;io de texto) I
I don't think I'll I think you will. ] I think | won't.
go to school
today.

3-Coloque os 3 primeiros balées da histéria em portugués:

1° balao: | | Vocabulary:

2° balao: | | 'Il.':nt. achar,pensar (que)
Today: hoje

3° balgo: | |

4-No primeiro quadrinho, Calvin utiliza a forma verbal “will”, pois:
a) Tinha certeza de que ndo iria para a escola. b)Queria provocar a mae.

¢) Havia acabado de decidir que ndo iria & escola.

d) Havia planejado com antecedéncia que ndo iria a escola. e) Nenhuma das alternativas.
TIRINHA PARA AS QUESTOES 5E 6

NOW T°LL FINISH N Vocabulary:
. HBLF THE TIME Any:alguma
i Finish:terminar
i Half:metade
i Help:ajuda
y In:na
} Need:precisar
H Now:agora
i Thanks:obrigado
H The time:do tempo
5-Coloque os 3 baldes da histéria em portugués:
1° balao: | |
2° balgo: | |
3° balao: | |
6) Ao lermos a histéria em quadrinhos, podemos afirmar que :
a) Garfield rejeitou a proposta de Jon. b) Jon tentou fazer com que Garfield se esfor¢casse mais.

c) a tarefa dada a Garfield requer ajuda de alguém. d) Garfield parece abusar da boa vontade de Jon.

e) Jon percebe que Garfield esta apenas tentando ganhar tempo para fazer a tarefa com ajuda.
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